(0.88,0.99) (0.77,0.99) (0.99,0.33) (0.77,0.66)
(H, A) = (0.55,0.99) (0.99,0.44) (0.77,0.99) (0.66,0.99)
L (0.77,0.88) (0. 77 0.99) (0.55,0.66) (0.99,0.44)
(0.55,0.88) (0.88,0.55) (0.66,0.88) (0.77,0.88)
To obtain the order position of a matrix:
(0.99,0.33) (0.88,0.99) (0.77,0.99) (0.77,0.66)
(H, A) = (0.99,0.44) (0.77,0.99) (0.66,0.99) (0.55,0.99)
(0.99,0.44) (0.77,0.99) (0.77,0.88) (0.55,0.66)
(0.88,0.55) (0.77,0.88) (0.66,0.88) (0.55,0.88)
Decision matrix for Alternative Py
(0.66,0.99) (0.77,0.99) (0.99,0.33) (0.77,0.66) (0.88,0.99) (0.77,0.99) (0.99,0.33) (0.77,0.99)
(0.55,0.66) (0.99,0.44) (0.55,0.99) (0.66,0.99) (0.66,0.99) (0.66,0.88) (0.77,0.66) (0.88,0.66)
(0.44,0.88) (0.77,0.99) (0.44,0.66) (0.99,0.44) (0.77,0.88) (0.77,0.55) (0.88,0.33) (0. 77 0.44)
(0.55,0.44) (0.88,0.55) (0.66,0.88) (0.77,0.88) (0.88,0.66) (0.77,0.66) (0.99,0.55) (0.55,0.66)
Decision matrix for Alternative Py
(0.55,0.66) (0.44,0.99) (0.88,0.33) (0.77,0.66) (0.44,0.99) (0.77,0.55) (0.99,0.66) (0.77,0.99)
(0.77,0.88) (0.77,0.99) (0.44,0.66) (0.99,0.44) (0.77,0.44) (0.77,0.55) (0.88,0.33) (0.88,0.44)
(0.88,0.99) (0.77,0.99) (0.99,0.44) (0.77,0.66) (0.88,0.66) (0.77,0.99) (0.99,0.44) (0.77,0.99)
(0.55,0.66) (0.99,0.44) (0.33,0.99) (0.66,0.99) (0.44,0.99) (0.33,0.88) (0.77,0.66) (0.88,0.66)
Decision matrix for Alternative P3
(0.99,0.66) (0.44,0.99) (0.88,0.33) (0.77,0.66) (0.44,0.99) (0.77,0.55) (0.99,0.66) (0.77,0.99)
(0.44,0.88) (0.77,0.66) (0.55,0.88) (0.99,0.33) (0.66,0.44) (0. 77 0.66) (0.55,0.33) (0.88,0.77)
(0.66,0.99) (0.77,0.99) (0.99,0.44) (0.77,0.66) (0.88,0.66) (0.77,0.99) (0.99,0.44) (0.77,0.99)
(0.33,0.88) (0.77,0.99) (0.44,0.66) (0.99,0.44) (0.77,0.44) (0.77,0.55) (0.88,0.33) (0.88,0.44)
Decision matrix for Alternative P4
(0.99,0.44) (0.99,0.44) (0.99,0.33) (0.77,0.99) (0.77,0.55) (0.77,0.44) (0.44,0.66) (0.33,0.88)
(0.88,0.33) (0.88,0.77) (0. 77 0.66) (0.77,0.66) (0.66,0.44) (0.55,0.88) (0.55,0.33) (0.44,0.88)
(0.99,0.44) (0.99,0.44) (0.88,0.66) (0.77,0.99) (0.77,0.99) (0.77,0.99) (0. 77 0.66) (0.66,0.99)
(0.99,0.66) (0.99,0.66) (0.88,0.33) (0.77,0.99) (0.77,0.66) (0.77,0.55) (0.44,0.99) (0.44,0.99)
The decision matrices with ordered position as follows:
Decision matrix for Alternative Py
(0.99,0.33) (0.99,0.33) (0.88,0.99) (0.77,0.99) (0.77,0.99) (0.77,0.99) (0.77,0.66) (0.66,0.99)
(0.99,0.44) (0.88,0.66) (0.77,0.66) (0.66,0.99) (0.66,0.99) (0.66,0.88) (0.55,0.99) (0.55,0.66)
(0.99,0.44) (0.88,0.33) (0.77,0.99) (0.77,0.88) (0.77,0.55) (0.77,0.44) (0.44,0.88) (0.44,0.66)
(0.99,0.55) (0.88,0.66) (0.88,0.55) (0.77,0.88) (0.77,0.66) (0.66,0.88) (0.55,0.66) (0.55,0.44)
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Decision matrix for Alternative Py

(0.99,0.66) (0.88,0.33) (0.77,0.99) (0.77,0.66) (0.77,0.55) (0.55,0.66) (0.44,0.99) (0.44,0.99)
(0.99,0.44) (0.88,0.44) (0.88,0.33) (0.77,0.99) (0.77,0.88) (0. 77 0.55) (0.77,0.33) (0.44,0.66)
(0.99,0.44) (0.99,0.44) (0.88,0.99) (0.88,0.66) (0.77,0.99) (0.77,0.99) (0.77,0.99) (0.77,0.66)
(0.99,0.44) (0.88,0.66) (0 77,0.66) (0.66,0.99) (0.55,0.66) (0.44,0.99) (0.33,0.99) (0.33,0.88)
Decision matrix for Alternative P3
(0.99,0.66) (0.99,0.66) (0.88,0.33) (0.77,0.99) (0.77,0.66) (0.77,0.55) (0.44,0.99) (0.44,0.99)
(0.99,0.33) (0.88,0.77) (0.77,0.66) (0.77,0.66) (0.66,0.44) (0.55,0.88) (0.55,0.33) (0.44,0.88)
(0.99,0.44) (0.99,0.44) (0.88,0.66) (0.77,0.99) (0.77,0.99) (0.77,0.99) (0.77,0.66) (0.66,0.99)
(0.99,0.44) (0.88,0.44) (0.88,0.33) (0.77,0.99) (0.77,0.55) (0.77,0.44) (0.44,0.66) (0.33,0.88)
Decision matrix for Alternative Py
(0.99,0.44) (0.99,0.44) (0.99,0.33) (0.77,0.99) (0.77,0.55) (0.77,0.44) (0.44,0.66) (0.33,0.88)
(0.88,0.33) (0.88,0.77) (0. 77 0.66) (0.77,0.66) (0. 66 0. 44) (0.55,0.88) (0.55,0.33) (0.44,0.88)
(0.99,0.44) (0.99,0.44) (0.88,0.66) (0.77,0.99) (0.77,0.99) (0.77,0.99) (0.77,0.66) (0.66,0.99)
(0.99,0.66) (0.99,0.66) (0 88,0.33) (0.77,0.99) (0.77,0.66) (0.77,0.55) (0.44,0.99) (0.44,0.99)
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